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for the questions.

PART-A (¥ - 92)

For New Course

Q. No. 1 carries 1 mark each (any four) ............ 1x4 =
Q. No. 2 carries 2 marks each (any five)......... 2x5 =10
Q. No. 3 carries 3 marks each (any two) ........... 3x2 =
Q. No. 4 carries 6 marks each (any twoj ........... 6x2=12
Q. No. 5 carries 8 marks each (any onej ........... 8x1 =
' - Total =40
PART-B (4 - 5iex)
For New Course . ’
Q. No. 6 carries 1 mark each (any four) ............ 1x4 =
Q. No. 7 carries 2 marks each (any five)........... 2x5 = 10
Q. No. 8 carries 3 marks each f{any two} .......... .3x2 =
Q. No. 9 carries 6 marks each (any two) .........6x2 =12
Q. No. 10 carries 8 marks each fany one).......:. 8x] =
' Total =40
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PART-A / F-82 / g5 [ FH-F&T

SN (Introductory Macroeconomics |
(FfEarn wafet =7 )
(2 fo % (iR @l #if757 )
JCM (9a7 n@rﬁaﬁr Rrarafer )

1. Give short answers to any four of the following quesﬁons :
1x4=4

TR [t bt e vy Tew f

SO @I DI At e Ted wle ¢ |

e ST A g fqmm ?

() Who is known as the father of Macroeconémic; ?
e sl g Ik P T e
fpar] SRR S % oo
ot ey fav e A foferm S 2
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- (i)

(iii)

What are the two sectors studied in ‘two-sector economy’ ?
FraRRE wifife's wigmme (R 70/ 467 KA S F91 22

mﬁ%wﬁ%z@ammwmaﬁmwmmw?

‘ﬁ%*ﬂmwﬁa'ﬁw&muﬁﬁﬁﬁ@?ﬁﬁ@ﬁw
SR

‘Write the full form of FRBM Act, 2003.

* FRBM W12, 2000 357> vl fora |

(v)

' FRBM (13, 3000 37=5jd 7o Al

FRBM 3T, zoosﬁa@@ﬁm* .

“Voluntary . unemployment can exist in an ecoriomy with
full employment equlhbnum » Write whetlier thlS statement

- 18 correct or incorrect.

| “qcfﬁqf:—quw wwﬁﬁawwmmﬁw%r’
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Tl 9% (7 O9%T ﬁiznl ~

“ﬂﬁqﬁﬂwwwwaasﬁwﬁﬁmw @R AFCS
Wl”@f—ﬁ:‘ & 7 YT @zvm ‘

“mfwmﬁﬁamwﬁmammwﬁxﬁwﬁmw*ﬂ@w
=i i o g | e e Tt for | |
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' “(v) Inwhich year the Breeton Woods’ Conference of the United

G
AR o7 Top,” Sfiramimad (@ 57 W_[%@?qﬁia?

Nations was held ?

SIEHCTR R e, RS (o 0 S e
GWW‘MW'WW@WWWWW7

(Vi) When the level of effective demand is attained ?

o ot o
WW&WWWW@WW
et A
(vii) NNPgc = NNPMP;;. | o | (Fizz in the blank)
@ﬂmﬂw NNP=3@%WNNP-+I“ (ﬁé@%w)
@WWNNP=W'WNNP;_| (9T 9 BI) >
@WWNNP=WWNNP;‘___J\ ‘
- (iRl S 3 @)
4]
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2.  Answer any five of the following qUes_tions’: 2x5=10
worR RTIT! S5ty e Bea il ¢
RIS -Gz oS evum B v
TRTART STARETEAT FiaT SRR R
(i) | Write two diffé;gnces. betwéeh difect tax and indirect tax.
mmwwwmﬂ@ﬁm
ST T R A T Jlfl??hﬁﬁﬂ sl
mﬁh @I@Fn 3 @mm '@ﬁfmﬁ t?Fﬁ R fa'{ |
(i) What do you understand by ‘paradox of thnft’
ﬁwﬁ—ﬁ ﬂm qf%fca ﬁs qm i
‘ﬁwﬁw Wﬂr‘ﬁmé’f e} IS a?t T ?
‘TR nmaaq’ g@ﬁw 341 gfaﬁn |

(i) Write one similarity and one difference between capital goods
" and intermediate goods. ‘

aﬁ@mwam@m wﬁ‘rﬂmwaﬁrmaﬁﬂﬁm |
\\)Y MP*—
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"R TR 3R NGRS T @35 A R G5 oM A
B S1g 3R TR were T 996 ORd TRl 1w e fe

(iv) Explain the concept of ex-ante investment and ex-post
/ investment. ‘
y

"

et Rl s cogrs R Rl GEGIEAGE f
eepfire R @ o R et 7o |

m@wmm@wwumw
TR <%

(v) - What are sources of supply of foreign currency in an
economy ? | : '

u@%awﬁzﬁ-wd%@ﬁ@ﬁs%?
: < i Ford CSPIET BT A A
'n@mmﬁg@qmwmﬁﬁwmﬁmmmv

(vi) D1fferent1ate between revenue expend1ture and capital
. expenditure.

R T R ] A AT #A1L GT4eal |
AT A3 32 SFLET) O G A1 (7S |

31T T SR G T TSR e fefe
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(vii) What do you understand by devaluation of domestic
currency ? Write with an example.

CPTR @I SREIEW T & ga ? Snrgaeri
CPTR IR SR TR0 ) (A ? SRR A
TRRIN MWWWWW.?W@WI

3. Answer any two of the followmg quest1ons 3x2=6
Aoat ﬁmm zﬁ#m e e

ﬁm mmmﬁm%’mmo-

o

Wﬁmmﬁ#ww@

(i) Inan economy margmal propens1ty to save,is O. 5. What
- owill be the 1ncrease in income if there is a new investment

of Rs. 600. crores ?

wzﬁrﬁawmﬂmwf@mo smmm@mo @ TR
mﬁmﬁwﬁﬁs%ﬂmﬂﬁmﬂmwﬁwv

aasf%waﬁf%a 2iffee ey &?ﬁ'@iﬂ 0.5_I§_l?ﬁ°f CFTE 600 (I BIwIR
g RATI SHETIRETS T AT T SR e T ? |

ﬁ@ﬁm@ﬁwﬁfwiﬁaﬁmaﬁosﬁmwo%ﬁﬁ
W@WWM,&WWWWW?
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(i) What is fiscal policy ? Write its two objectives ? 1+2=3
et o o 2 3G et
mﬁwﬁﬁiﬁwaazﬁ@mwﬂﬁﬂw| 
Hmﬁnmﬁﬁmnm?éﬁﬁhﬁaﬁ§%ﬂl

(i) How financial deficits can be reduced ? Explain briefly.
Rt i it wm s s 2 bt ot =41 |
EM¥$ﬁﬁ§é%mﬁz§¢mcmmﬁméwm@ﬂ%mmﬁ$@n

- m’mﬂmmm?@%w

(iv) In the context of natlonal income accountmg, analyse the

concept of planned and unplanned change in inventories
with a hypothet1cal example. |

ST S 41919 25701 #{<08] T +ifRefire o wiotfRastis sifReeem
4IRel I Iz B1 RS g fora | |

TSI S I 2B o8] e AfRrs e ol e
rzett @ fo Fefeie Srigatetd M IR @A | |

agaﬁsmrm#ﬁammﬁﬁﬁmma3ﬂﬁ%mﬁﬁﬁmﬁgxﬁﬁamﬁ;ﬁg
- drarrATatt aEeiy o it fafifa A YwsEE g fag
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4. Answer any two of the following questions : 6%x2=12
o R B e B e
A (- Y 208 Tea IS ¢

(i) What is balance of payment ? Explain its components.
‘ | 1+5=6

ATl Frol 2 B SoAmEORZ TR |
ﬁﬁ?ﬁt@ﬂwﬁ?mﬁmaﬂﬂnmL
< e 2 A e

(if) Explain the process of credit creation by ‘cqfhmercial banks.

What is money multiplier ? 5+1=6

e a4l 3BT afdFmn i 9 | g o e
iR <pica <l 3 el g S0 | ok 2
et R AT e e |
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(m) What is aggregate demand ? erte about its components.

<~

' < 4
o

e

e - 1+5=6

- e w1z &2 2ar Someniza R &

R 1w ) 2 @@ SoiEnea KA A

mﬁmm?éﬁammﬁu

(iv) Is GDP an 1ndlcator of welfare of a natlon ? Jusnfy your

answer

’

GDP mawwqaﬁmmvmﬁ@wq%q@—mmu
GDP & @z mw«mﬁmm‘? c—mm@—caaq%mm

GDP mm@ﬁwmwmvaﬁwwmau

S. ’An_swer any .bne of the followihg_ quesfien_s : ‘ 8><.i=8
.Eﬂ?ﬁ%ﬁ?ﬂ&ﬁemzﬁéaﬁm:gd
ﬁ@@cvﬁﬂF#4aﬁﬁG@ﬁﬁ§ﬁez
(i) What is value addition ? Explain the value added method

of calculating’ national income. Write an 1mportant merit of
this method. 4 1+6+1=8
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SF SRS 6 SO S S E ARG oiafS [l F 1 92
@S b1 & et &7l |

T TG T 2 SOV W S{ia 377 FCANCH TSl it Pl | 92
Ao @0 ety 3[4t ¢FHTat |

T TR W2 wgeii o1 feum @RAAEN SE S
TR 489 1 3 sttt iR e @ fer

(u) Write about the quant1tat1ve and qualltatlve measures used

by the central bank to regulate money supply in an economy.

@@a@ww@f—wmﬂmﬁmwﬁﬁawwﬁﬁmw
W@W@ﬁﬂwﬁm%w

wﬁﬁmqm c«sﬂeﬁaﬁmww @@ammwwﬁm«w

«ﬂawww?{ﬁmommﬁﬂm@mz

arirgwanﬁwgﬂm?ﬂﬁ@m%fml
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(iiij Explain the working of investment multiplier with example.

What is backward working of investment multiplier ?
7+1=8

v wo s mqﬂi = TRl R xa K KON
ol R | |

RRc ewwefﬁm SRR I T r.ﬁﬁmﬁ el ST
e A2 | |

@wgﬂmwmﬁ@ﬁu@ﬁﬁfﬂ?ﬁa@al@wmﬁ
SIS Sesan =1 2 R
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' PART-B / 4-9I% / 45l /. @-argrit
(Indian Economic Developmént}
( ©IFeT wﬂ?m%as'@“fm )
(e s S)
(v it arT)
6 Give short answer to any fourof the follOWiﬁé ,.questions :
| | -1x4=4
- i mmmmf?mmﬁ?m‘mm 3
LIRS maf‘awuh#@wﬁga’ﬁmm@r E

(i) What is ‘marketable surplUSf in the éontext of agricultural

production ? |

P BesAms (F© ‘ﬁ-ﬁm-m Tq@’

i S— O Ry Bge e
I, FegTaf et  EETE a4 A 2
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(1) Wri‘te.the full form of NCERT.
NCERT 3 ™5« | f&7all 1'
NCERT-G 77 o Gl |
NCERT-f4 a11g uzr@ fer) |

(i) Which Ind1an company bought the Enghsh tea compan}’
‘Tetley’ 1n 2000 ?

-~

(PICH SRS @Mﬁﬂm zooo TS i\ma JE3 @wﬁr ‘“Tetley
(CBGaAYY wzﬁﬁ%ﬂ |

| @m—iﬁa mwﬁr zooo vm?zvamw @rwnﬁﬂ Tetley (wﬁ)
mwﬁ—v{

| e qRASTIR P 2000 WWWWW Tetley
() amélrh'-w

(iv) The owner of a 'saloon'i's aregular salaried/self-employed /

casual wage labourer. (Choose the correct option)

4 (5o AR T e m‘ﬁ/wﬁmﬁm/mﬁm
ETR R ' | (B Fsr 519 1)
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SR (TR T e i @eet/AfRers / tfifes
IR 1S | | , (% [eal @ZEW)'

TR A Faria Sl e S o /e fera /A AT
i | | (7 e aEE’)

(v) What is India’s ranking in terms of Human Development

Index, 2023-24? . ¢, N

_2623-24 @w@ww C‘W%WWWW
.2923-24«51 W‘@WW mme9
;02;3_-24 mmmwﬁﬁaamqmﬁww

(vi) Agrrtu{re/lndustry/Servmes sector: is ‘the largest
contnbutor to the Natlonal Income of India at present.
(Choose the correct option) -

a@mwmsﬁﬂ w@qﬁ/mﬂ/cﬂm ﬂ@mﬁas e

| (wﬁaﬁ'ﬁmawr)

ﬁﬁﬂmwﬁw?ﬁ/ﬁﬁ/mmﬁmfww

AT (7 [R5l (AR A1S)
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,aﬁmma¥mmﬂmmﬁg@§ﬁemm?qammvaﬁﬁﬁﬂhﬁmsﬁﬁaaf

SafRgs =ife fagm g (M anfgeeT araE’)
7. Answer any five of the following questions : ‘ 2x5=10
o eIzl SHsbt e T i ¢
$MEtvﬁﬁFwﬂh@ﬁa@@%§mez.
TRTA TrERESEr Ay fEaE e

{t) Write two causes of slow econémic growth and re-emergence

| of poverty in Pakistan.
AT TZ G oT Y Wi wREoR e SR 757 we Bl |-
mﬁwmmhéaﬂﬁm%¢¢%q«?ﬁm@mﬁm@mﬁm5ﬁ¢ﬁﬁ@ﬂﬂ|

T e e |
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(i ,/Cilassify the following into renewable and non-renewable
5‘/ . resources : | | |

(

Wﬁammﬁa?wmwmcmmm TR 4l

RS ATl Ga SRS IRFRCTCI) 77107 (TG st 3

TR ST AT 18 AR el ol A
el : | |

(@) Tree
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(c) Iron ore
SRSl
e
(@) ‘Seaﬁsh.‘ - .
\'””a§“@~/2//%'_
T AR )
.éﬁnn&af' '
~(ii}) Write two benefits of formgl sector 'e;niploymentf
Wwﬁﬁﬁ?ﬁ AR v
@ﬂﬁﬁﬁvaaﬁéﬁ%iﬂ?ﬁﬁmCﬂém
- .%aﬁ@ﬂﬁfmmﬁﬁﬂaﬁ(@@)ﬁ?t
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(iv) What do you understand by outsoﬁrcing ? Write with an

example.
fReBes ozl et B ot ¢ SargaeTg |

BB eizel TS F @W?WW Gl |

SESGE! ST St T g ? fafefeli et

(v) What are the types of econOnﬁc syétem ? Which economie
system did India adopt after independéhce ? 1+1=2
WWWW@@@%MW%W (TR A
) otz SR |
welafos T eReR A By AR AR TS @ FLAT
<RIl ez et ?
daferR EfeRrt AGAERT H 71 ? IS S s e -
el SSEgHA ?
a8 . |

[19] ) Contd.
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(vi) Write two important achievements of India’s ‘educatmn'

sector.
Emwﬁﬁhﬁﬂéaﬁi@ﬁﬁﬁhﬂﬁW@Hﬁml
EﬁﬁwﬁﬁmﬁWﬁﬁﬂﬁ®@ﬁﬁ%ﬂﬂ@ﬁﬁ@ﬁﬂHI
*mﬂﬁﬁﬁmﬁﬁﬁaﬁﬁﬁﬁqaéﬁmswﬁmmqﬁﬂi

(vii) What are the aspects included in ‘agricultural mérketing”

process ?
#ﬁﬁﬁm’m@%%ﬁﬁ@l@?@m
G Retey 2fevaics 1 9 fis g 2

‘mﬁmm’%ﬁ@?@ﬁmmﬁﬂ@wmz
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8. Answer any two of the following questions : . 3x2=6
O fAreA 7t e B fir 8
AR I S AR TEI e s
(i) When did the Central Pollution Control Board of India was
| established ? Write two functions of this board. 1+2=3
OReRHs (R e e o el sig w1 Cef 2 @ AR
7oy 1 fea

T e el B o 0 a1 1 At < oA 76
R Al | |
A @i fel |
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(i) Match the left and right hand side of the following table :
o SIfFRR A9 i Gl B ¢
MR Ifereta A @2 GRfis (ele 3

T o7 eft STy PR sy s i

1. Prime Minister VA.. Seeds that give large pfoportion of
ﬁ*fﬂﬂ@?i o ‘o‘ut'pu'tg |
o 'sraéswm—;émwma
’ ‘HET%I@I | | . | 'Wf%@lf}"l@@@ﬁ‘ﬂmﬁ’m%

2. Gross Domestic Product B. Qﬁantity of goods that can be

0 0PI Geott | imported
G A B Wﬁw oW o
Ws'wzf@urs | | Wﬁwvfmmaﬁﬁmq
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Quota

.

Land reform measures .

o PR IR

?ﬁﬂﬁﬁm

Gl mm

C. .‘.\,Chairperson' of the Planning

’ Commission

D.

ﬁ@mm Rl

ST SR T4

faifig T2 AR

The mohey value of all the final

| . goods.and services produced

(23]

~within the economy in one year |

5 TS @ i TR et

TR S IR AN W R

4% LT @ e oz Sestifre

T SN QRGNS T R (R

AT

e o e g
TR S AEEE 39 R
Tomit T |

Contd.




5. HYV seeds
T TSty 15
T Besiivr

e WM

6. Subsidy
ARG
S

®R 1]

96 / ECON

E. Improvements in the field of

agriculture to increase its

productivity

BeatmiaTel 3d A 1A 46T A

CHIS

Seiiardierol 3 T A0S A 1
e SRR e A e

~F. The monetary assistance given by
-government for pfoduction

activities
 BeetTeA TR 1 5% ol A

ettt DI 5 IR 7631

N

i

W@Nﬁﬁﬂi@mmmu
e |
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(i) Who is a worker ? Are the following workers — a beggar, a

thief, a smuggler and a gambler ? Why ? 1+2=3

h aﬁasm m? f\\?’lﬂa, (b1s; CO1R W@, @ﬁ@ — 4]3‘5]?:?[ =5

T 2 IR e |

a%wam?w,m,'mwmﬁ,w@—mﬁsm?wq

s |
- R e e ? SRA R )
(iv) Explain the ‘great leaﬁ forward campaigﬁ’ of China as’
initiated in 1958.
1958 5 51 &7l 1 ST 28 Wi SIS B gt
1958 itel Bl 2z F4l ‘Srqc' < gze WSS ST FHCweA I
@ | |

1958 AR . STeEd ‘great leap forward Sraf@ER 1
A aEd| | |
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) g 6x2=12
9. Answer any two of the following questions :

SR R g e B 2
TR @-Ieaft 715 oii B e

(i) Write a note on the de\}élopment path of India; China and

Pakistan.

| Eﬂ§®;§rvaﬁﬁom%@mwﬁaétﬁﬁfimwavfﬁsmaﬁﬁxﬂ?ﬁTdﬂﬁjﬁvﬁl
E%éiﬁméﬁiﬁﬁﬁﬁﬁm§W%W%$@ﬁﬁvaﬁﬁﬂﬁﬁﬁﬁ§ﬁ%ﬁﬁ?ﬂCﬁ?ﬂlA
una;éﬁnéwﬁqﬁaém?ﬁwﬁmﬁaeﬁnﬁqEﬂqﬁ#éﬁ#%ia§+ézl

(i) Write two differences between human :capital and physical
capital. Discuss the sources of human capital formation.

2+4=6
T o1 I (STTOF 4T T/ A1 ol 1 1 et 8 ooz
Rcinia] | -
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"R @3 (S EER 5 A9 T | T A A0

CPRE SIS T |
T B SR TR st H Er o | g B qrraf g
QI |

| () ':DiSpu§s the _i;r:lportancé. of credit for rural developrn'ent.
Write threedifferences between formal and informal sources
of rural cre.d:it. - p - .' | | 3+3=6
A1) S T T ST S < | 1) el s i
Wﬂéﬂﬁ?ﬁ B foRb! ?n@ vl |

m@mww«m@mmwmmm«wx@m
.ga\mﬂéﬁﬁs@%ﬂ? W"ﬂ@ (.?'TC?HI '

iy T ATEr QR TR FE | T SRR W SR S

G dre™ ERIT e
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(iv) Write short notes on any two of the following : 3+3=6

N e

TSI - ;fﬁ?aﬁm PF Tt Gl s -

(@) Import Sui_astitu;ioﬁ trade policy

(b) Role of srpa11-sc;ie ;ndustry in Indian economy
TRl weNfve T S9N \fﬁm |
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i time of
(c) Condition of agriculture sector of India at the

ipdependence
JES—— -
TFIRTOIR T ST W RAEL

10. Answer any one of the following questions : 8x1=8

S oot e s S E
(i) Whatis oréanic farming ? How does it help in _sustaingble

development ? Write three merits and two limitations of

organic farming. 1+2+5=8

t@ﬁ?ﬁqﬁmﬁa‘ﬁs? aiﬁﬁmw'@m.mmm?-
_Wfﬁ%ﬁ?ﬁﬁﬁrwwmwml
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(1)

RS IR AT F2 @3 AwfeH Tz anr Frela AT B
&R A omfen Bl e @ §fo Meramet @l

[RIBUIRIf aﬂaﬁwa@mm?é@ﬁwm’mmﬂmmﬁr \
ST ) R ST T aif Her s A
Tl el

“The threat to India’s environment poses a dichotomy.”
Based on this Statement, write an analytical note on the
Cug'rent' environmental situation and problems in India.

What are the factors responsible for‘land._ degradation in

India ? ' - o : 6+2=8

WW%WW@WI@W%

S T AR ) o2 RRTR R <l Resere (B

ﬁmnmgﬁaw«aﬁam@mmﬁgﬁfﬁw

“SreAr AR oS et e Ferets R sz @2 S
Ficegarg B9 m.mwwwmmm mm&ef?x
Wl 2 | |
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memmmwmﬁr@r&mq‘mﬁ?m
T 'RRM anforamfy smEgEmiit e ) S dree JA
qH?

(tit) Briefly write about — (a) industrial sector reform (b) financial
sector reform and (c) tax reform mpasures undertaken as

part of lib.eralizatibn policy of economic reforms, 1991.
3+3+2=8

ITES 1991 577 LARST HHA wfe i ifed oI A
T — (o) Sooie ar@w’m (b)ﬁsﬁ EICERIK wwmz (c) 3R
ﬂWﬁ&tﬂb‘{iﬂCﬁin

RS 1991 mewwwmqﬁﬁwrmﬁ
BLeg @ — (a) @mﬁ?ﬁs 0% AFR (b) vznfﬂ%s RAEEROEE {c}
mﬂwﬁmﬂ\mﬂa‘mml

YRAE 1991 mwﬁmmmm@mﬁm
ﬁmw@ (a)arﬁrqwrﬁ@aﬁmamm(bmmaﬁr@raﬂm(c)
@ﬁm@z‘mﬁ@mﬁgﬁ%@m
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